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Read the following passage carefully
or questions no. 16 - 18

[n a villago, 0 shopkooper used to soll his
(ruits at high pricos, which brought him a lot
of profit. But, ho wasn't happy wlith it because
ho wanted to oarn moro, So, whenoveor n‘

customer came to buy fruits from him, ho
cleverly reduced the weight a little. Now, ho
wns oarning moro monoy. Ono dny his {riend
came to buy some fruits from him and hn'did‘
the samo to hia friond, When his friend got
suspicious, the shopkecpor told him that H.'

wns his illusion.

Tho shopkeeper manipulated his customors
becauso ho was

(A) greedy

(C) nngry
(D) poor

|

ons no. 16 to 30) For cach question, four posaible answer choices have been
cot the correct anawer and indicate {t at the appropriate place in the

10.

How did the shopkeepor enrn money ?
(A) By selling wood

(B) By solling vegotables

)Z( By solling fruits

(D) By sclling grocery

Tho shopkteper's friend grow -
(A) merciful
(B) sympathetic

(C) treacherous

/Fﬂ guspicious

21,

i

20.

gluen, out
OMR

Dircctions : Answer questions no. 19 - 22 by
choosing the most appropriate optiona to complete

the paragraph by filling in the blanhas.

Gulliver found that the strongost cnbles woro
no botter than thin thrends and tho motol

bars wero like knitting ncedles, Tlo made

somo strong cables by _(19) multiplo cnbles
togethor. o gomo  hoolks
by bending two-threo motnl bars togothor,
I'In (20) tied tho hooks at tho onds of tho

R —————

cables and wont to tho ahore with them, Beforo

also  mndo

gotting into tho sca, Gulliver did not forgot

to put (21)
oyes. Gulliver then wnded through tho son

his goggles to protect his

wntor (22) waes reaching only up o his chost.

(A) twist
(B) ,twistod

?( twisting
D) twists

thon
(B) when

(C) 8o
(D) but

(A) oul
- (B) In
'/C)/nf

(D) on

22. (A) who

which
'
(C) how
(D) while



4 - F 27 He rcﬂliBEd that hsc had Vel B
or?* d choose the | =" montb becat all expenses
d the sentence given below an : this @ after ™ eting
g4. Rea ' 1y chongés it into Passive money le
option which correc y .
Voice. _
Whom did you invite 7 }"I little
lesser
Mgm was invited by you 7 :E; =
80
Id be invited by you ? ica is the
(D) Who couRe ' | 298. The Amazon river in South et
1 e

(C) Who was invited by you ?
(D) Whom could be invited by you ?

The word which is opposite in meaning to

‘mercilessly’ is

24.

(A) torturous

(B) cruelly

/:1 kindly

(D) heartlessly

25. Choose the word similar in meaning to the

underlined word.

It will be hard for us to recoup the loss. |

(A) cut
(B) retain

(C) spread

|

/.B)/recnv er

Directions : (Questions no. 26 — 28) Answer these‘

questions by choosing the most appropriate options
to fill in the blanks.

26.

hundred-metre race, but they were all
declared winners. '

(A) None of the
(B)

either of the

,CBJ/I.E "her of the
S

ume
Tthe

29.

river in the world.

(A) longer
(B) longest

(C) along

( most longest

he alternative that best expresses the

lect t : Eh .
o ce in indirect speech :

following senten

said, “After hearing the sad story of th

- etly got up and walked bac}

laundry man, I qui

' fter hearing th,
(A) Alan said to me that a :
laundry man’s sad story 1 quietly got Uy
and walked back home. _

) Alan said that after hearing the lau‘ndq
man’s sad story, he quietly got up ap
walked back home. '

Alan was saying to me that after hear,
the laundry man’s sad story, he quigl
got up and walked back home.

(C)

(D) Alan said that after hearing the laun;

man's sad story, 1 quietly got wp a
walked back home.

seven Paralympians .ram the|30. Give one word substitute for the folloxis

expression :

‘One who can be easily led to believe i
something’, -

(A) Indelible
Incredible
(C) Gullible

«{I. | Invineible
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35.
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Directions : (Questions no. 31 to 65) For each question, four possible answer choices have been given, out

of which only one is correct. Select the correct answer and indicate it at the appropriate place in the OMR
Answer Sheet.

; et @, IR i
¥ fawol a1 8, & &EA%d |+ 8m 2
(A) 1:V2 (B) 1:2

c) 2:1 D) J2:1

g 379 "ifge ¥d1 F 40% @1 H G o,
20% WHM F fRTT T 3 309 AR FEI? T
gd w2 | 98 ufd v a9ft oma * 10%
a9d HW & | TEER W gHE & fHEUU @

H21 HI0 12 ?
(A) 144° (B) 36°
(C) 72° (D) 108°

weg “MOVEMENT” 8 U& & Ag=adl Al
ST 2 | 38 e & M g Al wiawa & R 2

(A) (B) 2

(C) (D)
aFd & TH 4m H FE=mE 5 . AR g
36T 2 | 98 1359 M. Ak | ¥ B | 39
&M ) SIS = 8 2

(A) 159l (B) 253

(C) 75dHl (D) 80 @t

UF WA F HTAER WA & AgH F A6
38,400 @ #. 2 | afe saehl wwaTd o <IgTS
1 YA 3: 2 8, A T8 WA & UZA H IRET
g |
(A) 500 HI.
(C) 1000 Hl.

1| B9 B |

4
|
8

800 H1.
1200 1.

(B)
(D)

31.

32.

33.

34.

M 76 cm

BF924 - F

What is the ratio of the area of a square to the
area of another square made on the diagonal

of the first square ?
)l‘f} 1:2

(A) 1:V2

(€) 2:1 (D) J2:1

Mohan spends 40% of his monthly income on
food items. 20% on house rent and 30% on
miscellancous items. He saves 10% of his
income every month. What is the central angle
for house rent on a pie-chart ?

1440 B)  36°
Gy WE° (D) 108°
One of the letters from the word

“MOVEMENT” is chosen at random. What is
the probability that this letter is M ?

A = (B) L
2 4
(C) -2- L}f{l ~1
7 8

A beam of wood is 5 m long and 36 cm thick. 11
is made of 1-:35 cu m of wood. What is the

width of the beam ?
(A) M 25 cm
(D) 80 c¢m

The area of a school's rectangular playgroun
is 38,400 sq m. If the ratio of its length
breadth is 3 : 2, then the perimeter of tt

playground is :
B 800 m

(A) H00 m
(C) 1000 m (D) 1200 m

15 ¢cm
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24&;33513?1,?231\'{?5%%%?”&3

g,g%ﬁﬁﬁﬂﬁﬂﬂﬁ?ﬂ%lﬂﬁ‘;I
¥ fugwl H T I T 5 F fGEwl K gen

a2, @ T 5% Fead R ¥ 2

(;(( 5 (B) 7

(C) 12 (D) 16

42. ﬂﬁx=?—4\/§ %.Fﬁ [x+%] a:]tn:{-g:

(A) 3J3 a1 83

(C) 14 + 8V3 (D) 14

afe g AR QUiihl 1 ITHa S @, a1 399

gag @9l QIis, S & |y fFg a@ ¥ gafid

27

S-10 S+4
W == fﬁ' ;

(D)

S+5 | S+10

4 5

44. Y9 &} AY ’YA W HH FH 3 F 3
15 94 9vErq Y0 1 g, JwE f 3 f
o Tt &Pt | ST ) FdUA Y F ATEA =

2?7
(A) 48 Y /{) 60 94
(C) 6458 (D) 7279

9

41.

43.

BF924 -

In 24 coins, there are T 1 coins, ¥ 2 coins a
Z 5 coins. The value of these 24 coins1s T |
If the number of T 1 coins and the number

¥ 5 coins is equal, then how many ¥ 5 co

are there ?

(A) S (B 7

%/12 (D) 16

42. If x=T - 4J§ . then the value of (x + —1—] i

X

(A) 33 /{; 83
(C) 14 + 8J3 (ﬁ 14

If the sum of five consecutive integers |
then how is the greatest of these int
related to S ?

(A) S-10 : (9) S+4

S 4
(C) S+5 (D) S+10
4 O

Prem is 3 times older than his son .
After 15 years, Prem will be twice the
Ashok. What is the sum of their present

(A) 48 years /B( 60 years

(C) 64 years (D) 72 years

Fed &4 & fou g / SPACE FOR ROUGH WORK
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pr924 ~ F afa AP~ pe. |47 ?1;:::1‘: L
45. ABCD UF mut AT, T4 -
 :
A | ¥
C
4
¢ O, AP~ (D) ZLAs=/(
D L P ( A= 4D -
(A) AD=CD (B) LAF C;«': “ cD is a rhombus, If
X"‘A=£D (D) ;fﬂ"d 46. In the ﬁgu;;;:f:jﬁﬂw 110/.. th“'ﬂt}
” "{Gﬁ . o
46. ﬁzﬁmcvﬂﬁw?;l'ﬁ £ BDC £5 re of £ BDC 12 -
» a4 2 DAE = “
e o/
5 T -
D -
.
|
\/
B
2 X "
(A) 200 (B) 3% i 4 T 45
(C) 407 )’{ = 5T | 47 A rectangular sheet of paper 44
: .\ — [ 4 cm ~ 17
Mﬁrﬁflaﬁtﬁmmwﬁﬁ 4 s

#z F1 FEAE F A4 UG
m%lﬂmmmﬁm?

Ay 272 EE - (B) 27227
A or27AAEH (D) 2277 o

48, mcﬂmﬁcﬁmwmmmﬁs 3 2
A1 g FAFA 125 @1 BH £ | 74 A F

gframg 2 -
(A) 13534 (B) 548HI
(C) 81T (I 48 341

- | 48.

rolled along its length and a cAirs,
formed. What is the volume of that ¢y,

(A) 2772 cucm (B) 272 @
y 2727 cu cm (D) 2277 cuer:

The adjacent sides of a rectangle are ¢
ratio 5 : 3 and its area is 1325 g e
perimeter of the rectangle is :

(A) 135 cm (B) 54cm
(C) 81cm M 48 cm

F=3 %14 F 70 717 /| SPACE FOR ROUGH W/ORK
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49. UE W B TH 35 WA § 18 fE A A zf o
w2 | e |, ' 793 A feeh 2w

F1 GFA1 8 ?
(A 196 {4, (B) 192 & 1.
c) 216 f&.H. (D) 212 f% .

so. afe T F &l 28 = 65 oAl d qu v |

3, @t 3w H fed ==fw 35 BE A qu
gl 2

49.

o0.
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A loaded truck covers 18 km in 35 minutes.

At the same speed, how far can it travel in

7 hours ?

() 196 km (B) 192 km

(C) 216 km (D) 212 km

If 28 people can do a work in 65 days, hov

many people can do the same work 1
35 days ?

(A) 48 (B) 46 (A) 48 (B) 46
(C) 52 (D) 56 (9/52 (D) 56
e ey 1
(r+
4 \f3.3_r 3 (re-) —r
51. 1 2 \/_2-—r MEL % : bl. % 9 * v33 is equal to :
'\ 3 " i32-l"
A 1 (B) l (A) 1 (B) l
< : 3
9
(©) 3 D) 9 (OF 3 w
oX 4 9x-1 : oX , ox-1
T 2 +
52. X1 _ o 52. T is equal to
1 3 1 3
(A) -5 (B) E (A) E (B) >
2
2 ' D) —
(C) 1 D)3 ) (_____3'______

Fed F1d & %qm / SPACE FOR ROUGH WORK
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3 i,.re
55; w;’iﬂ"l _{0,75)3 + 1] 18
gF924 - F mﬂm (0'75}3 *(0-75*
] 76
(0r75) e+ ( 75}2 v 1] # | o
53. - (070
1-075 )
R :
(A) 4 B) 3
(B) 3 {/O( Z
(C) 2 (D) 1
itive _
(D) 1 The prﬂd“‘:t of two POsitY numbers i %
54 | o
| 2921 2, 3 and one€ of them 13 three times the othe, W,
sq 2 wATeRE W@ F oG 5;93 @ " ine greate” number ?
. * 3 - i
=i @ o ged g8l ged
' 22
g Fe? @ 5
22
(A) —7—- - _@E
T
(B) _6.79
C) é'?“
(C) %Z ©) =
oy 28 o 68
7
Jg + 1 J5
_ _ 5=
55. dfe _ J5 +1 gl b = [_5______1. g, ﬁlﬁﬁ If a 51 and b 7 l |
Jg -1 Jg +1 ) D +1
a? + ab+ b® aZ +ab+Db .
a2 _ab+ b §: a2 -ab+Db
(A) 075 (B) 125 A 075 /{] s
3 4 3 4
© z - (©) < 4
5 D) 3 : D)
-____-____
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Three numbers are in the ratio 2 : 3 : 4 and

56. 56.
AEA 2673 B | 34 7 gEmsi w5 Amed
?ﬂ =l sum of ir cubes is 2673. The sum of these
€ three numbers is .
t,ﬁ‘\ 26 (B) 27 ‘/()/26 ){ 27
(C) 28 (D) 29 ( 28 (D) 29
57. afe (32’1"“1 =8N 47 %. a1 x &1 W= 2 - 57. If (32)2**1 =8 %44 then the valueof x1s:
(A) 1 /u(} 1 (A) 1 )y{ RN
(C) 2 (D) =9 * x 2 (D) -2
N r 4
i o -4 afelos | |6f3z9 | .
3/-9 _ 58 { J5__ \J\E—] is equal to :
o V€60 | VY50 | wmm R | {
(A) 5° (B) 5
(A) 5° (B) 51
, () 58 (D) 5'2
(A 5° (D) 52
. 3 03 . 23 4 43 3 n+1)
* : > |59, If1°+2°+3" +4 +....+n={n( }
59. 'ﬂﬁ13+23+33+43+....+n3= n[n+1]] 2
2 1
3-6:[" ‘' G 15 E‘@ﬁ % N where ‘n’ is a natural number, th
. ' 9 A3 . a3 43,23 _ @3 ,.73_g3 4,93
13—-23+33—43+53-83+73—83+93_103 1323 +33_434+5°-6"+T7"-8"+9" -
a2 1s equal to :
(A) 3025 (B) =575 (A) 3025 (B) =29575
C) - 1800 }.’ 0495, (C) - 1800 W) 2425
— 3 non
60 V8 . V100 395 | e 2 - 60. [__Jg +‘@x3125]isequam;
© V16 V49 | J16 V49
1
(X)) 7 (B) - /T (B) ..7_
4 4
7 4 7 4
(C) — (D) = A 4
100 7 (C) o8 D 2

=1 @14 % fau g / SPACE FOR ROUGH WORK
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Ix -1 | (A) x =1 (D) X =
(A) x=1 L xﬁ#l {/C)/M::2 e
_— o x="" i s 8 cubtracted from a number ,
. 1 el FATC aiv - . itiplied by 8, 5
g2. uafe fedl & gl d 2 > dlfrercnce ¢ multipli€ y 8, the resyly .
Maﬁsﬂgmﬁmm.a’uznﬂm l Whusthﬁ““‘“be" &
g w4 R ? (A) 2 e
(A) 2 B) 3 /Z' 4 R
2X
(C) 4 (D) & [ ______4 == then the value of (2,
=1
63. ﬂﬁ—sj—d—ég,ﬂfﬁh”T)ﬁmg 19 1 ‘
3 A 13 | -t
A) 12 B) - 1-13 W
13 3 () 0 (D) 13
(C) = 19
0 D) 1 N2
64. If | x+7| 7 3, t
64. afg ) 2, dl [ x] hen the value of
x+—-| =3 8,
X 206 4 x200 4 x90 4 84 4 x18
206 . X
x<V6 4 200 x90+x3“+x13+112+¥6+1 + X +X12+-‘iﬁ+
HT 919 ? , iS: I
(A ) O
(c) 0 ol /:; 84 o
) o (D) 206 | (D) 206
1
65. af> . | 65. If x + == 5, the
P ’ n
x+x-5?.Fﬁ zjx &1 OH 2 o the value of __2
3x° -5x+3 . _3:7\“
IS : -31.
k. (B) -
©) 4 N 1 (B) :
)R-
4 (C) 4
of L
4
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q

y - (Questions no. 66 to 100 : '
ly one is correct. Select th) For each question, four possible answer chotces have been given, out
t the correct answer and indicate it at the appropriate place in the OMR

e .

Al A7 T 3 wmn aa w2 e
2132 2 fFm 100 F w3 oA i A
A1 ZT 2

100°

110°

| 30°

1407

I3 &1 98 9T HH-891 2 71 39 fafre m
7l 2 ?

66.

A ray of light is incident at a point on the
reflecting surface of a plane mirror so that the
angle between the incident ray and the
reflected ray is 120°. If this ray is turned
through an angle of 10° towards the reflecting
surface keeping the point of incidence same,
the angle between the incident ray and the

new reflected ray will be :

(A) 100°

The part of human e¢ye which gives it a

distinct colour 1s :

/.‘0 cornea
(B) 1ns
(C) lens
(D) pupil
If the angle between the incident ray and the
reflected ray is 130°, the angle between the
incident ray and the reflecting surface of the

MIrTorJs :
e
(B) 35°
(C) 55°

68.

S ———

Fed

——

(D) 65°

e —

. E————
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o v e et | An electroscope is used ¢ e
AT 2 | object 18 carrying char O test wh,
j:n a H@ﬁ =97 g The carrect statements areg.e OTr not lhfrrh
) Had 2a
S 3 3R 4 (D) Fad 1 3 4 (! 3 and 4 only )B(Ianda'unly
g1 UH ‘ nd 4
TR g ) ﬁ'gﬁ i % U’HTﬂ’ﬁa; gy Il 71. Which oné is the exam Onl}.
Srard A % wﬁw@ sa 38 freh faea | (A) Deflection of “frg
(B) ﬁ‘gﬁ R placed near magnetic
§ faga um yaned c a Wi feeq|
g YHTY T I g W ST | a e ire carryin,
) 9@ F A8 &I - | bmll)sslﬂn of heat a Ty
qaifed aft 2 EIF'#, g0 v@ § 4 thir when elEctrind light fro
(D) AFIT & _ (C ough it C Currept M eley,
Sﬁaf[g} | _ 1S
Y&e gHl Ia 3¢ m'm g & gagal F ) Rotation of blad M
&9 g gl | passed th es of fan
FS W T @1 2, W gA ¢ , forad o A mughthefan’whenmm
e YRT YaTfed # Al 2 § SR fagd | ppearance of gas :
ittle . in w graph.
| : quantity of Vater .
E the Set_up tn Cums

Fcd F14 9 -

& fao s =
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72.

73.

74.

75.

L7
rfg ITFC THA @ el § wEA H wm
s T4 &

(A) @d I @ 9 9rg-E

B) a@.ﬁﬂamﬁﬁ’fgﬁﬁ
() A S 3 T ITH A
p) it faeehl @ =2 sy @

et o eaft B yaw eafy d ofafda w6 5
fore 7 gie A BM eafa Hr -
mam?’rmﬁ ‘

7

(A) =1 9 $4 &l Il 2
B) s fzm (fidh) @ Fd@ 2
(C) =1 AT AT 8 I 8

12,

In musical
the vibrating parts are respectively :

BF924 - F

instruments ‘Ektara’ and "Manjira

(A) The instrument itself and air-column

Mir-cnlumn and stretched membrane
d the instrument itself

3.

74.

(D) adA 8 ATl 8

5.

(C) Stretched string an

lD_) Stretched membrane and the instrument

itself

To change a feeble sound to a loud sound we
will have to increase its:

(A) Time period

(B) Velocity

{/F}/Frequency

(D) Amplitude

The factors on which the loudness and pitch of
a sound respectively depend are :

(A) Amplitude and speed of sound

(B) Amplitude and frequency of sound

(C) Frequency and amplitude of sound

(P’)/ Speed of sound and frequency

Amplitude and frequency are Lwo important
e amplitude

properties of any sound. When th
of vibrations increases, the sound produced
becomes :

(A) low pitched

( more shrill

(C) high pitched
(D) louder
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fac Nﬂphthalene palls ™~
s 53 @ 76. ed from
BF924 -#F Jﬁ( 34'.'11 m ﬁ' ‘rlt;:' ’WT m_herinﬂ S Eﬂhmln
76 Vil (mﬂ) . aTFﬂ ﬂ?ﬂaﬁq
' a 7 7l g7 r
7l __.Wg‘[ﬁfﬁ A Coal™?
errferfad @ ¥
* (B] Cﬂke
(A) M
(C) Coal 82°
(B) @ /
( gitumen
C) a1 (1A 14)
(D) ﬁ@m 77. Given helow are two columns — Coly
m
< 3 - lgﬂta“,‘fﬂﬂﬂﬁqﬂq—g Calumnllr nli
77, A4 g1 I - _ Col I
E;WI W” a_umn Column I
) (W 77 (Disease) (C? hiibine
( qua) Microorgan;
(1) Rust of whea (2) Prowzﬂgﬂmsm.
(i) ﬁ'éﬂm (a) Wa’" :
(11) hot ,
i) TRPIES b T i) Typhos b) Virus
(ii1) qﬁ%ﬂﬂ (c) ghdh | (lll) P{]]iﬂ F )
ungi
(iv) gl (d) SiC! (jv) Malana \ Bact
o
frofafad 749 39 e &l Jgdr &ifsu | e
mﬁﬂvﬁmﬂﬁﬂmﬁa@@ﬁﬂﬁﬁq@ ldentify the option whi
ﬁmmmz : n which corr
the disease with 1 . ectly ma;
| 1ts causative mi fa
) (M), Gi-Co), (ii)-(a), (v)-®) A) G | Croorgans
| , ) (1)-(d), (i1)-(c), (111)-(a), (i
(B) (i)-(b), (ii)-(a), (iii)-(c), (iv)-(d) B) | » (1v)-{b)
; . 1)-(b), (11)-
() (i)-o), (iD)-(d), (iii)-(b), (iv)-(a) _ /m{ (i1)-(a), (111)-(c), (iv)-(d)
: y . (1)-(c), (11)-
(D) (i)-a), (u)_-_(b}, (Gii)-(d), (iv)-(c) o » ), (11)-(d), (i11)-(b), (iv)-(a)
(1)- &
(a): (H.)'(b), (1“)"(d), (i\')-([:]
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| Column [l and H{:luﬂh

( 20 ) h t:*rulu"""l
e |
|82 M .ul.wl"'“z \
» el orreC! Column 11
ﬂ?ﬂ" a {'ufl””” d
- il &1 «illu Fermentation
[ 124 = .'-‘m ® FITH 1 76 Loct ba
o ¥ ) duct;
& g . . 1lium roduction of
> gl ¢ - —p) Penic antibodies
A w ﬂﬁ‘ﬁnﬂ Fixation of
: i Bluc green -
5 aﬁﬁf’ﬁ ZTW ( algae nitrogen
o fAF grd R (D) Yeast Food preservatyg,

s T dza |
% - Z%T
il ":}ma (

(A ¥

B fﬁﬁ IL I-_'-qﬂ

i

i AR YT
C"I o .

83. The two discoveries made by Louis Pastey; |

commercial use

the of MICroorganig,

respectively are :

f/pasteuﬁsation and vaccines

(B) fermentation and pasteurisation
(C) pasteurisation and antibiotics

(D) fermentation and vaccines
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8. Q ‘Fﬂ?h ; W VR W gﬁm EE \-n"h H(84. Select a group of two Crops which are grown
q’]ﬂai-ﬂ'ﬁ." ﬂq:‘ﬁ'cf! % fore o & A {qﬂ & alternately in a field to replenish the soil with

@4 R} Il ATl % I nutrients.
(A) UM " ﬁi T (A) Paddy and Wheat
(B) wferdl 9 ﬂﬁ (B) Legumes and Wheat

(C) YA § HEH r (C) Paddy and Maize

(D) WEh! 9 HUTH f( Maize and Cotton

85. fedt v & gani FA ¥ ¥ GEAEN B 85. Weeding is done before sowing a crop by an
&£l Q?ﬁ qaﬁ’l &I aa—gﬁ ﬁ : agﬁculturul practice known as :
(A) ofsT (B) ®ZTHAT )(4(1 Threshing (ﬁ Vinnowing

(C) Tilli ( Levellin
(C) AT (D) HHdc il e vering

86. One of the agricultural practices 1S

preparation of soil resulting in loosening of

soil initially. Which one of the following

86. #wﬁrﬁﬁ@mﬁgmmam
TEEY HOY § A Ot @ S R
Effgd S § @ SH-E & 3@ g A

statements is nof an advantage of this

™ TET 8 ? .
practice ?
(A) 31'3 8 b ? (A) Allows the roots to breathe easily
(B) o S it S S @ (B) Brings the nutrient-rich soil to the top
©) firdt 9 gaaa TR § e wd R (C) Helps in levelling the soil
(D) ésgaﬁ AR Qﬂﬁﬁﬂ}l &l Q’ﬁ(’, Exci L RES (P) Helps in the growth of earthworms and
A 2 microbes

<3 wrd % fore @ / SPACE FOR ROUGH WORK



( 22) rowctiﬂﬂ
. o |87 For the  of [ndia Jaunched a prs,
f?{ﬂ ﬂ'ﬂfa (;'ﬁﬂz GovErﬂ-mE ‘ijed r[\iger". This prnjeﬂ .
pfn;--;ﬂ_’_ N ﬂzﬂ;:w Wﬁqﬁrﬁﬁl i a Lnown 85
g7 ﬂ-ﬁ ﬁﬂ ﬁ 7% W ]ﬂuﬂched 10
A _ nga National Park
szm)mﬁ g dl (A) KaZl
e AR 3" ri wildlife Sanctuary
a .aﬂﬂ‘ﬂ < )‘/ National Park
art (c) Satpurd ™4
- a1
i Biosphere Re
P Hﬁytﬁ?ﬂ mﬁfﬂ‘ﬁa D) pachmarhi Biosphere Reserve
a7l T
(D)
5 ﬁ(:"q E,'(a; 34 ﬁﬁﬁ_‘q ,88 MatC-h Column [ with Column 11 and selEt{-
- &l ) g
. FTe¥ j 3N FiciH ”ﬂﬁ . 3. miSﬂlat‘ChEd option :
1 gj;”l A 1 - Column I Column ]I
A Ferdd q:;:ﬁiﬁ E@ﬁ" = (A) Sanctuary Certain activitjes
” ﬂzfat,?ﬁ‘-ﬁ & Fﬁ:l’fﬁ \ like collecting
Qﬂ . aﬁ e ﬁrE'\\'Oﬂd a_nd
(B) SiforaTd el . 3 | medicinal plants
e ™ allowed
©) oA Ig TP Tt afd & () Fauna ____ Plantsfoundins
* particular area
(D) g &t Fad fedl T g3 1 gl /(} Endangered Numbers decroas
gatd qran STl animals due to loss of

| (D) Endemic

. | i, ——
species

e

natural habitat

Found exclusivels:

an area
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89.

90.

(23)
89.

wzﬁﬁmﬁmwuﬁﬁﬂmm@m%:
(A) mﬁﬁarmﬁﬁ%mﬂm

(B) L), 3o R TE F FHH JATHR F
(C) S, @ 3R T (srafuq)
(D) mﬁ,tﬁmma@%mam

|

| e ar when @ fred smafid =6 %
AT H 9Z W wETTE R S |

|

Tl ¥ €9 E % @y AR @ |
3 gzl & fre oft ' @ |

3. Wﬁ@ﬁﬁwmﬂﬁmaﬁ%
WW%MW%WW
W@W%Wmﬁma@#ﬁaﬁ
frmt g afad 8 91d 2 |

4. G{ammaﬁtwmﬁa%%,
?ﬁaﬂ'ﬁFﬂmaﬂImﬁm-@zﬁél

?ﬁa?ﬁﬁwgz

(A) Had 13T 2

(B) Fad 3 I 4

C) 1,234

D) 1,33M4

Real, erect and smaller than the size ¢

the object

(B) Virtual, ‘nverted and of the same size

the object

(C) Virtual, erect and magnified

(DY Virtual, erect and smaller tha
the object

n the size

90. Study the following statements :

/

scess by which ele

Earthing 1S a Pr
d objects 1s transfie

charge on charge
to the earth.
ing electric discharge o¢

harged clouds and

between two C
uds and

between the charged clo

earth.
{. Durnng development of thun
due to air currents, negative ct

| collect near the upper edge of the
the

ders

and positive charges near
edges.
4. When positive and negative C

meet. streaks of bright light and
are produced.

The correct statements are
(A) 1and 2only

(B) 3 and 4 only

(C) 1,2and 4

\(’D)\l.Sande‘t

(
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(24 ) oL
’FFIJ p atl &7 gt 91 .'L-mlm'l' tht rnrrff- tﬂtunient from  th,
i ﬂ;ﬁW st ig’ 4 AT 7a A ﬂfﬁ qi ﬁ:[lnwulg:
(AN ;f;i“ (A prictio” rce qopends o0 he s
- gﬂa g1l ﬂ'lf'ﬂ 1. f:,’(ﬁ ;1’(7.:" the l'.lhjl"l't n the nHtUI'E af bhape
B f}.‘ﬁa‘@ N g 7 the fui of
2 a0 o @ 8 5a @@ (B) Frictiannl (oree on an " id.
a 9 - it &l &l F*;ﬁﬂﬂm dt:-pend on 1S speed w‘uﬂ ject does
O el a q2d nfd £ 2 A 2 | uid 1N which .. moves ith respect t‘ noy
.mwmﬂsﬁﬁ‘ﬁﬁ;mﬁtﬁ&ﬂﬂ: o prict : 5 0 th
g e e 7@ ¢ ¢ a1 T e force  always
A AT 2 directio? »f motion ys acts i
(D B N th
ocause a7 is -
9. mﬁ#*%ﬂuﬁﬁmﬁ'mqﬁm W ot e is very light 2
{"RTH) ? : . rt any friction nd thin
A) falling objec al force » 1t dog,
10 Hz 8 200 Hz @@ on the &
(B) 20 H_rﬂ Eﬂ.ﬂ‘ﬂﬂ HIHE; 92. Thei ﬂudiblﬂ' range of [ EE!!
«c) 1,000 Hz 8 15, o Hz T :-‘:r is - requencies fo
(D) 20,000 Hz & 30,000 Hz @@ /j ;2 ::3 to 200 Hz r humg,
g3. ¥l . z to 20
wﬁ“ﬁﬁﬁﬁwm@ﬂ (©) 1,000 Hz o e
@ 1 3P9 @a & ara & (D) 20 to 15,000
#mémmﬁ' a3 far @ 000 Hz to 3 Hz
e o A R g @l B F 5 93. Porters 0,000 Hz
¢ | g d 4 L W s T@ah long P}E:?hu carry he
(A) AqF : carrvin e of cotton avy loads
a‘ﬂ 13 7d] #a g el ying the lo cloth ) alwa}'s
(B) 3 fn < @ ! oth in the fi ad on thei with them have |
C frg 9z @ a1 on their h orm of r heads . Befo
e mfﬁ'{q{a}g aﬂ%l (A eads. B dflrﬂundd- they fold "
' ad @l = (B ase the th 18 they: Pléce
(D) 37 ) save the rust of | |
fr @ @9 3 ( eir he the load
2 | ¥ gH-8F der ads fron ad.
F =g ease th 1 possible i
éﬁ . e f lblE :
the orc 1n
D) ir heads e exerted b jyury.
fere g / SP - with th 'the area of ;
ACE FOR eir head contac
RO S t of
JGh wﬂﬁ;( - the loa:
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(25)
et o AR F F H - X~
94. < ¥ A £ fafa 2 - fafual aam 8 ==ifs | 94. Reproduction in Hydra 18 similar to yeast as
Al i ‘ they both reproduce :
L;: FrgueA (A) sexually
| a
™) by binary fission
© TF P
e (C) by ing
D) - ) by budding -
(D) by external fertilisation
a1 FrEA frafafaa g | fean 3
o S eC ad R R 2 95. External fertilisation occurs in
A) . (B) TiTta
) ra?;.ﬁ D) =5 ( E ) )y Frog (B) Sparrow
' | (C) Cat (D) Crocodile
g6, Prefer@d H 8 1 frf =afe 8 wRa F
frataa FA HTE?{ 21919 &1 ITEA 3 5 96. Which ﬂl‘li‘:‘ of the ful]uwiﬂg pruduce: a
(A) NERG e ' hormone which controls sugar in a person
(B) YA bl\hdrunal gla?d
(C) 41 IR (B) “Pancreas
(D) IR 1D (C) Pituitary gland
(D) Thyroid gland
97. —ram 1§ f2U MO WHE AE TR A H AT
Gy Hicd 11 4§ feu MU FHE w3 SifFu - 97. Match the organs of human female
ST ; reproductive system given 1n Column 1 with
- 4 Column 11 giving the functions they perform :
(i) USSR (a) 91 =1 fa=ma gran Column I Column II
2 (i) Ovaries (a) Development of the
.. - " baby takes place
Gy daifgad afeer () @IE IHE fyeion
) = (n) Fallopian (b) Production of female
(i) TITIE | (¢ fawiad m O~ tubes gamete
(feea) =1 A {ﬁl]/ Uterys (¢) Mature eggis
released
A (D)), (iD-(b), (i) A (1)a), ()-(b), (Gid)-(e)
(B) (1)-(c), (i1)-(a),.(iiD)-(b) (B)  (i)-(e), (i1)-(a), (111)-(b)
(C)  (i)-(a), (i)-(c), (111)-(b)

(C) (i)-[a),{ii}-(c}.tiii}-tbl

(1)-(b), (i1)-(c), (iii)-(a)

¢ (1)-(b), (iD)-(c), (ii1)-(a)

e ————

—

(D)

f

_————

e

e
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.)aaa

(i)-(d), (iD)-(c), (iii)-(b), (iv)«(a)
(i)-(c), (i)-(d), (iii)-(a), (iv)-(b)
(i)-(d), (iD)-(c), (iii)-(a), (iv)-(b)

(i)-(c), (i)-(d), (iii)-(b), (iv)-(a)

L4 1S a fuel wlt}

ihé followi™

6) mongst !
( ’ 8 \Vhicl’l ﬂ'nel ﬂriﬁc valu€ ?
:ﬁdra ara 9b- high“‘:"’ cal0 (B) CNG
ad T ¢rol
S F e 3 @ 4 pe (D) Wood
’”W e PR (¢ Dies®
pb.- 7 ion is :
qatfi® ¢ Lo 4 cequence of deforestation 1s:
g (D) The coP . =,
(A) 99. - in the rE]ﬂfau ﬂnd fer‘tlllty nftl‘
© ¥ . (A) increas *
-' 1
£ qﬂﬂrfﬂ s0l
99 ﬂ‘l’f’f::sm Ol el e i (B) jncreast . the ground water levels
(A) mﬁﬁtﬁg‘% ) 3 T q )'e/increase of carbon dioxide levels in
(B) #TdA STEATTEN
oz 4 atmosphere
(C) '
7% A F T § Al (D) decrease of pollsken ey i &
Akl here
D) mﬂ"gﬁ | e - 1 e atmosphe
Iﬂ Wﬂ?;?ﬁ .;]. &1 jq'a'-; quﬁ’ﬁ 100. Cﬂlumn I has Ssome Of the COnStituQ“tsi
;r:rc’b'| gz fag ™ Petroleum and Column II has thej; U&;
g adl fArcT FITAC %77 1 Correctly match the constituents with lhe
Fiaq 1 : .
b (@ O aTeA! uses :
afeA 3y Column I Column ]|
) (b) fasie g’{»ﬂé (31? (j) Paraffinw (a) Fuel for .
i) ﬁgﬁﬂ EFEﬂﬁTl) &+ ﬂ:m motor vehicles
m (11) Bitumen (b) Solvent for
: dry-cleaning
o e (c) 9= (ii1) Diesel (¢) Paints
(d) Crargis (iv) Petrol (d) Vaseline

(A)  (1)-(d), (i1)-(c), (Gi1)-(b), (iv)-(a)
(B) (1)-(c), (i1)-(d), (111)-(a), (iv)-(b)

. (@)-(d), (D)-(e), (jiD)-(a), (iv)-(b)

(1)-(c), (i1)-(d), (ii1)-(b), (1v)-(a)

—————————

(D)
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ANS

QN

ANS

17
78
79

30
81

82
83

84
85

86
87
88
89
90
91

NA

92

93

94
95

296
97
o8

99
100

QN

51

S2

53
54
29
56
27
S8
29
60
61

62
63

64
65

66
67
68

69

70
71

72

73

74
75

ANS

NA

QN

26
27
28

29

30
31

32
33

34
35

36
37

38

39
40

41

42

43

44
45

46

a7

48

49

S0

ANS

ON

10
11
12
13
14
15
16
17
18
19
20
21

22
23

24
25




